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Attempt any Five questions.

All questions carry equal marks.
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1. Consumption -
Disposable Income
Gov-emmer_lt Spending '

. Transfer Payment
Investment

Tax Rate

C=50+08YD
YDO=Y-T, T =1rY

G = 200
TR = 100
T =170
t=02
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where C, I, G and TR are measured in crores of. rupees.
(@) Calculate the equilibrium Jevel of income and multiplier in this model.

(b) Calculate also the budget surplus, (BS).

(c) Suppose that ¢ increases to 0.25. What is the new equilibrium income and the new

multiplier ?
(d) Calculate the change in the budget surpluls. 5.2,5.3
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(@) Derive the LM curve.

(b) Explain the effect of an increase in government spending on income and interest -

rate. 7.5,7.5
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(a) Determine the natural rate of unemployment by using wage-setting relation and price

setting relation.
(b) What is crowding out ? Explain the fo.llowing two cases :
(1)  Full crowding out
. . (2) No crowding out. 5.10
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Show Lhc-dynamic effects of monetary expansion on output, price-level and the interest rate
in the short run and in the medium run. 15
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(@) How does population growth affect the steady state in the Solow model ? Explain.
(b) Derive the aggregate demand (AD) curve from the goods and ﬁnanciél market
equilibrium. ' ' 7.5,1.5
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6.  Show the efficacy of monetary and fiscal policies under flexible exchange rate system with

perfect capital mobility in the Mundell-Flemming model. 15
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7. (@) What happens to consumption, investment and output when the economy makes the

transition to the Golden Rule steady state with too little capital ?

(b) Explain the concept of purchasing power parity. 9,6
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8.  Write short notes on any two :
(@) Multiplier

(b) Aggregate supply relation

(¢) Monetary transmission mechanism. 7.5.7.5
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